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Abstract

The ways of avoiding specific sequence is a long-discussed question in Combination Mathematics. For
the ways of avoiding the same element appearing two times continuously, Russian scholar Tanya
Khovanova [1] proposed the recursive formula. Since we know the number of ways to avoid the same
element appearing two times continuously, then how many ways are there to avoid the same element

appearing m times in a row?

In last year’s Taiwan International Science Fair “Avoiding consecutive x and pascal-like’s triangle
method,” I let A be the number of ways, and calculated its recursive formula, transformed A into polynomial

with coefficient B, and calculated recursive formula of B.

This year, in order to calculate B, my research process is as follows:
1. I proved the recursive formula of A, which is the number of ways to avoid the same element appearing m
times continuously by Combination Mathematics in an easier way.
2. I proved the recursive formula of B by Combination Mathematics in an easier way, and find out the
formula of B when the number I chose was less then m.
3. I calculated B and A by generating function, and calculated the formula of B.

I found out the number of B was close to normal distribution with the number I chose.
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PRy 2 R B T 5

AT < mBEB(n,m, j,i)=j' +§(—1)k“LLJB(n—k,m, j.i)5%

Q.E.D.

HATT 2 m AT (ERRAE < MEFE R - B2 mERRUEAAEE - BRIt
SHTi > m i B(n,m, j,i) :ji+z—1 LkJ (n—k,m, j,i)ERTL » HEEEHHARER

FEREIA AT B Z AR per iRy - B SR e B = A ek B

w k
G, (%,Y)= (k(w)”‘)EZ((H iyx=(j-1+x)y)") Jzﬂg@a m R - {54 R

k=0

Pr;,j(x)zj‘x‘(#j AE m SR+ RILEE SR + 151 < MEE MR (4 55 81 m 4

1—-Xx

B e > il =(%)Ii(xi*qi(—l)k(:()8(i +q—k,i)J+ e (ﬁj 5t
852 m AN -
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A T eV (RS - 235 B(nm,j,i) FRAZFR—{TAVIEE > 41i=3

m=3, j=2

n/i 0 1 2 3 4 5 6
0 1

1 1 2

2 1 4 4

3 6 12 6

4 24 28

5 74

6 152
7 270
8 436
9 658
10 944
11 1302
12 1740
13 2266
14 2888
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© v B(M,ji)euE B

N e B R AT RO R - IR EEERH T B(n,m,j,DHVEE SRR (EHEDY) - #2 2K
W B A EEDY - T B(n,m,j,DAVET -

EH

241 B(,mjD), ..., B2i-1,m,j,) I i fE{E

Z( 1)(} B(i+k—1-1,m,]j,i)
A B(n,m, j,i)= iy{n 'Hj

Proof’

FIZES A RE - A& B(n,m, j,i) Z L J n—k,m, j,i) 7] LLEE]

IZ(_l)k[:(]B(n_k’ma j>i): ji ﬂzt% [ FEEI‘/?% “JI”

k=0

F0fg o B(i,m,j,iVB(iH,m,j,i) B(i+2,m,j,i) ... B(nmj,i)

1 Mo B(i+1,m,j,i)- B(M BM V
VB(i,m,j,i)VB(i+1,m,j,i)vB(izlmJ,i)

50 B(i+1,m,j,i)- B(i+2,m,j,i)- B(i+3,m,j,i)-

2B(i,m 2B(i+1,m,j,i)+ B(i+2,m,j,i)+
JVB@ mj, l)\/ZB(IH mji)
L J.i

&1 I @* By EHEIU
i : \/ ......
Iﬁt?%'%ﬂilJB(n,m,j,i):iyr(:_lﬂj iy = S 1)U (i +k—1-1.m, J.i)

Q.E.D.
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EH—HEEIIR - N PGER e VU T e B A AR B(nm,j,DAYVERL - fEATEH
—HYRAMETERE - Al USSR S RO AE BHER R D -

B0 = 3K B(21,3,2,3)?2(#EZREREVULE | = m BFFHVEEIH M RS8R » (BEBHR B E IEHERY)
<FE—>TEH—
(1) B(n,3,2,0)=1, B(1,3,2,1)=2, B(2,3,2,2)=4
(2) MRIFIERAEFE A -
B(2,3,2,1) = B(0,3,2,0)+ B(1,3,2,0)
+B(1,3,2,1)=4
B(3,3,2,1) = B(1,3,2,0) + B(2,3,2,0)
+B(2,3,2,1)=6
B(3,3,2,2) = B(0,3,2,0)+ B(1,3,2,0) + B(1,3,2,1)
+B(2,3,2,1)+B(2,3,2,2) =12
B(3,3,2,3) = B(1,3,2,1) + B(2,3,2,2) =6
WL AR
1+1+6=B(4,3,2,1)=8
1+1+4+6+12=B(4,3,2,2)=24
2+4+4+12+6=DB(4,3,2,3) =28
1+1+8=DB(5,3,2,1)=10
1+1+6+8+24 =B(5,3,2,2)40
4+6+12+24+28=DB(53,2,3)=74
1+1+10=B(6,3,2,1)=12
1+1+8+10+40 =B(6,3,2,2) =60
6+8+24+40+74=B(6,3,2,3) =152

34+36+612+684+7718 = B(20,3,2,3) = 9084
364384684 +760 +9084 = B(21,3,2,3) =10602

() ATt B(21,3,2,3)=10602GTEEHE | )
<HEZ> e ] USRI TR ERRYBRA

(1) B(n,3,2,0=1, B(1,3,2,1)=2, B(2,3,2,2)=4
(2) MRIRIEARA (% -
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B(2,3,2,1) = B(0,3,2,0) + B(1,3,2,0)
+B(1,3,2,1) =4

B(3,3,2,]) = B(1,3,2,0) + B(2,3,2,0)
+B(23,21)=6

B(3,3,2,2) = B(0,3,2,0) + B(1,3,2,0) + B(1,3,2,1)
+B(2,3,2,]1)+ B(2,3,2,2) =12

B(3,3,2,3) = B(1,3,2,)) + B(2,3,2,2) = 6

{hdlam ot i

1+1+4+6+12=B(4,3,2,2)=24

2+4+4+12+6=B(4,3,23)=28

4+6+12+24+28=B(53,23) =74

(3) =551
B(3,3,2,3) = 6, B(4,3,2,3) = 28, B(5,3,2,3) = 74

2
-+ B(43,2,3)— (1 jB(3,3,2,3) =16

3 3
B(5,3,2,3) (1 jB(4,3,2,3) + (2JB(3,3,2,3) =8

19 19) (19
B(21,3,2,3)=6(1 j+16(2 j+8£3 J:IO602

(4) A5 B(21,3,2,3)=10602(EERHY)

A EACEFAT - £ =3AYIEI T - HEAIE B(3,3,2.,3) » B(4,3,2,3)1 B(5,3,2,3)gk AT AR

. 2014 2014 2014
#HKS B(n,3,2,3) » 41B(2016,3,2,3) = 6(1 ]+ 16(2 j+ 8(3 j

B 1<mpF > B(n,m,j,i)en— x50

P T EE A AT AAGTE Bnm,ji)yh - PSR TR < i - LR EHER
th B(n,m,ji) -

T
o ni i —1=1) . (n
i<miE - QIB(nm,j,i)=(-1) J'( i ):J@

n—I

Proof:
RIEERE =G, (xy) =(1—( )(i( (1+ jy)x—(j =1+ x)xy)" )kJ

k=0

EI<mEEG, (X,y)= ZI+Jy ZZj‘Lin"y'

AT L] B(n,m, j.i) = JU]J
Q.E.D.

m=2, j =1 B(n,m,j,i)z. - £ ;"
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PSR - £ m=2, j=1 i - AJDIEHEER H B(n,m,j, DAY -

EHLT

Bt

B(n,m, j,i)FERAE 1X, X5, X yoes X § (AT EE R IEEH)BEEY i [ - MR x, - x, HEHLE

() ~ BB x, - x, SO (i, ) > e R X - X, g (X)) ket
) AN (2R A -

F(k)BEERBFIE kIH -
5
i 2in-i+1
HlE m=2,j=10: B(n,z,l,i)z(in HljﬁZ(i j:F(n+2)
i=0
Proof:

Whm=2,j=1FRAF TR NZERT - BorEA ST -
APER n (B S - & {ETER - sgH i -1 REE -

PRI B(n,2,1,1) = (In - HJ ) 535 o
SHNIE I B(n,2,1,1) BB B F AR -

n+l

Ry (T‘ —ix 1] _ A2n2)

i=0

m-2

EBTJ‘/\‘\I’_Eiﬁ_‘ A(tana me J): (t _l)z A(tan —-1- kama J)+(t - J)A(tan - mama J)
k=0

AL A2,n,2,1) = A(2,n—1,2,1)+ A(2,n—2,2,1)
n+l
L{n —i+1

N A(2,0,21)=F(2),A2,1,21)=F(3) * FIt 2 j: F(n+2) 5 -
i=0

i
Q.E.D.

St B(n,m, j, i) Z—f&a - HNVEEA ZHEE - WoR——FIH - HpAefT
GiRrE

B(n,m, j,i) ek O AR

FEEARE EERIT - BEIE R > 45 TIRERL > MR B(n,mj,DHTE R&i -

AR —

Bt

B(n, m, j,i)FEAE X0, Xg Xy oees X | (AT EEHRIBER)BEH 0 {8 > A x, -+ x, 14K

(M[EIx,) > BER x, o x, A (mf[Elx,) S AR X e X ?@\Z\E(m{xj) (HETRIR
—) o AGEAN- 2R G T EE -
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HIEE m AT - BiZE B(n,m, j,i)BEE n i 851k
(—) AERAEE— N> BEE L 0EIn> B(n,m, j,i) 2 E &
(2) P8 - BRSO > AlSEs R PRSI —E
(Z) BEE > BENE > SR ENRETN—E

Explanation:

(—) HEEM
S f, () (n m, j, ')

BT RS - 5 1) = B(nm, j,i)ik fmn’i(ﬁj -

51+ avoid1122,n=20
0.25
0.2

0.15

—0—n=20

0 0.2 0.4 0.6 0.8 1 1.2
-0.05
i/n

B(n,m, j,i)
nAJ+1nmJ)

Z
i J o) (51 sonii) |

A(j+1,n,m,j =n A(j+1,n,m, |

AAesuESE > aaeE L J);‘ZQL Jlﬂiﬂfﬁ”ﬂ%
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5 : avoid1122,n=20
0.25
0.2
0.15
01 —e—n=20

—o— HRE
0.05

0 0.2 0.4 0.6 0.8 1 1.2

-0.05
i/n

B T A AT Z(QH‘ At D B n 1L -

I
n n

?z%log(n)éﬂlog{z(g@— o, GDJ
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AR

log

logzR 7= 1H

logiR7=1{E

-0.5

-1.5

-2.5

-3.5

-4.5

-0.5

-1.5

-2.5

-3.5

-4.5

=3

S IEN

log(n)

arA={H

log(n)

iR {H

log(n)

1.5

1.5

avoidll

#hR m=-1.5653328

avoid111

RR m= -1.456546922

avoid1122

R} m= -2.682404879




S IEN
05 0 0.5 1 1.5 2

-1.5

G IEN

-2.5

5

2
5}

avoid111222

log
w

-3.5
4 O\. 2% m= -1.720186996

-4.5

log(n)
AR H

0 0.5 1 1.5 2
-0.5

-1.5

A7 (H

avoid1111112222223333
-2 33444444

2
[

log

-2.5

-3 \\ R m=-1.562695378

-3.5

log(n)

i EEREE 0 0 K B IR RN -

[ [
n n

B fm”,j( Jgﬁﬁ%ﬁﬁﬁaﬂ@ gL j

27



() P

g Y B0 g s | crgm s
o =n A(j+1,n,m,j) - = :
P

m\j 1 2 3 4

210.2771 ] 0.5007 | 0.6392 | 0.7239
310.3824 | 0.6102 | 0.7215 | 0.7839
0.4343 | 0.645|0.7415| 0.796

NIBSLy
0.6
05
0.4
E
i7 0.3 ——j=1,m=2
- 02 —j=1lm=3
j=1,m=4
0.1
0
0 50 100 150 200 250
fE¥n
log(4 £ HE (~FI8U(n)-~F-25 8 (n-1)))
0
0 0.5 1 1.5 2 2.5
-1
NN
$m 6\\ —j=1,m=2
He 3
‘_QDD = j=1,m=3
-4 j=1,m=4
-5 J=1,m=2
#ER m=-2.037207868
6
log(n) 7=1,m=3
#R m=-2.026431567
J=l,m=4
#2 m=-2.026962806
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T

0.8
0.7
0.6 =
= 0.5
4r 0.4 j=2,m=2
B 0.3 — m=3
02 —j=2,m=4
0.1
0
0 50 100 150 200 250
En
log(4& ¥ HE (98 (n)-~ 298 (n-1)))
0
0 0.5 1 15 2 255
-1
-2
o3 j=2,m=2
Hd
& 4 —j=2,m=3
—j=2,m=4
-5
6 J=2,m=2
7 #R m=-2.033497388
log(n) =2,m=3
#= m=-2.03349551
S 2 med
0.76 #R m=-2.033545212
0.74 ﬁ
0.72
i 0.7
T —j=3,m=2
o —j=3,m=3
0.66 s
0.64
0.62
0 50 100 150 200 250
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log7= 18

B

¥

log7=1{E

0.81

0.8
0.79
0.78
0.77
0.76
0.75
0.74
0.73
0.72

log(F&HHE (V#5984 (n)-"F-#9%(n-1)))

NN
\§
log(n)
R
=
50 100 -gﬁg;n 150 200

2.5

250

log(4& ¥HEL (P98 (n)-- 1295 (n-1)))

0.5

SN

log(n)

1.5 2

N
N

/

S

/

2.5

—j=3,m=2
—j=3,m=3

——j=3,m=4

J=3,m=2
REE m=-2.033496972
J=3,m=3
REE m=-2.033498131
=3, m=4
RE m=-2.033539052

—j=4,m=2
—j=4,m=3

——j=4,m=4

—j=4,m=2
—j=4,m=3

—j=4,m=4

J=4,m=2

Rl m=-2.033496976
J=4,m=3

#h% m=-2.033496376
=4, m=4

Fh% m=-2.03351174




=B 4% l ’ B(n,m,j,i) _ L B(n,m, J’I) ’ > e 7% > m[ag
watmmneyl) SR ( nA(j+1,n,m,j)j bk o

iV B(m i) (i Bmiji) Y o e
Lz(nj A(j+1,n,m, j) (Zn AG+Lnm,j) nfEE n o > R —E

SEEEN 2RI E

m\j 1 2 3 4
210.0899 | 0.177| 0.192| 0.1788
310.1326 | 0.2008 | 0.1868 | 0.163

0.1631 | 0.2094 | 0.1858 | 0.1601

0.3
0.25 §
o 02
=
%ﬁ 0.15 —j=1,m=2
®o, —j=lm=3
j=1,m=4
0.05
0
0 50 100 150 200 250
f[En
log (% {H (52 528 (n) *n-88 528 (n-1) *(n-1)))
0
0 0.5 1 1.5 2 2.5
-1 \
2 \
@ % \ — j=1,m=2
T -3
‘_QDD ——j=1,m=3
-4 j=1,m=4
>
5 J=1,m=2
#£I% m=-2.01458934
-6
log(n) i=1,m=3
FIE m=-2.01458935
J=l,m=4
IR m=-2.014589332
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0.25
0.2 S
i 0.15
%ﬁ? j=2,m=2
w01 —j=2,m=3
0.05 ——mm=4
0
0 50 100 150 200 250
£J¥n
log (% ¥ {H (52 528 (n) *n- 52 58 (n-1) *(n-1)))
0
0 05 1 15 2 25
-1
2
m -3 j=2,m=2
e
& 4 —j=2,m=3
——j=2,m=4
-5
B
6 J=2,m=2
5 1% m=-2.01458934
log(n) =2,m=3
#8 m=-2.014589356
SREE N i=2,m=4
0.196 #2 m=-2.014589375
0.194
o 0192
e
%*? 0.19 —j=3,m=2
#0188 e
t — j=3,m=4
0.186
0.184
0 50 100 150 200 250
AN
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log7={H

0.18

0.175

0.17

BB *n

0.165

0.16

0.155

log7Z={H

b b U &b b oAb L

log (4742 {E (42 BB (n) *n-5

0.5

log(n)

o Z:ﬁ%&*

548(n-1)*(n-1)))

/
/

log(4E ¥ {EL (35 F£E(n) *n-

0.5

1 1.5

RN

log(n)

fn L

2z

~
\

200

2.5

250

—j=3,m=2

—j=3,m=3

—j=3,m=4

=3, m=2

FE m=-2.014589185
J=3,m=3

X m=-2.014586774
=3, m=4

FhE m=-2.014588215

——j=4,m=2
—j=4,m=3

_j=4lm=4

FH(n-1)*(n-1)))

/I

2.5

—j=4,m=2
—j=4,m=3

—j=4,m=4

j=4,m=2

AR m=-2.01458926
=4,m=3

IR m=-2.014589484
j=4,m=4

% m=-2.014590223




B2+ Tanya Khovanova [1]FEHREE fy n - ¥ 00 5] — P74 HHER Y Y 7 A8 2 R A
2 o FEAN R FZEEIERPHE4] hHERS 218 00 R — V) IR m By 70% -

AKWFERE At n,m, j)EFEEA B(n, m, j.i) RS2 26305 WEE R B(n,m, j,i) 25 W15E
HARNE ~ — MU RIER R » WEEIE T < miE B(n,m, j,i) L —Mz - HRaEZAYEM D {E
& B(n,m, j,i) ZEREIM ~ BREME ~ BB R BIPEGET - n MUK - SREEEATR 0
SRR —E  SEREEE b BTN —{E o IR R IT R e E] Y A R A SR
HEHRI—R K -

SR A EZWTFeaiiR > BEATT

FIE- (0 =) SAEREER,, ()= Atnm, jx" - [
n=0

o0

R:n,j<x>=(1—xm)[kz=;,(tx—<j—1)xm—<t—j)xm“)kj

73z (P hz) L SAREHG,, (xy)= 2 Y Bnm ji)x"y" » f:

i=0 n=i

k=0

. k
Gu 09 =00 )| Zlo (i |
TRy (P o) ¢ EEE R R/ NEEER m - AIRGTEEE ) RERUTEEE
B(n,m, j, l)ifﬁ—fé EIRE %
(nmjl—j-l-z LJnkaI)
FIRI (P hz) @ ERIB3A,MD), ..., B2i-1,m,j,i) 3 i {#{E

Z( 1)(} B(i+k—1-1,m,j,i)
Al - B(n’m’j’i):iyr[n_iﬂj

r=1 r
. .. L n
W (P enz) s i<mig - B(nom,j,i)= J'LiJ
) L ) n—i+1 [”*1} n—i+1
#32= (P ez ) B(n2Li)=|. H Z[ j F(n+2)

FE-(pdw):
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B(n,m, j,i)
A(j+1,n,m,

(1) S &j J - A %ﬁ%%%%J s

Z{%ﬂ—m{ﬂy%%nﬁﬁﬁﬁﬁmo

B(n,m, j.i)
n A(j+1,n,m,j)

Q) SFEHPr g u = Z » SEFHBEE n AT —

I8 2w E
m\j 1 2 3 4

21 0.2771 | 0.5007 | 0.6392 | 0.7239
310.3824 | 0.6102 | 0.7215 | 0.7839
0.4343 | 0.645|0.7415| 0.796

g~ 51 BOm i) (i BEumii) ' g o0
Q) SRR Z(n} A(j+1,n,m,j) (i n A(j+1,n,m,j) EHo"xnlE

= n KT nN—E
SN 2 R E
m\j 1 2 3 4
210.0899| 0.177| 0.192| 0.1788
0.1326 | 0.2008 | 0.1868 | 0.163
410.1631 | 0.2094 | 0.1858 | 0.1601

e~ 5T YR

[1] Tanya Khovanova, Recursive Sequences Proofs,

http://www.tanyakhovanova.com/RecursiveSequences/RecursiveSequencesProofs.html#common ,
2007.

RIFSHF ~FEd, B LE BT CRFP > T3 FREFAFT P > #HHT Ao
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Bl ) Bl E BT RGP B PEREFAESET 2P B
ko0 2015 -

[4]/€_Avoid 7| P45 = 27+ = &35 £ REFE > 2015
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B(n,m, j,i)~ A 5N

(=) m=2

(1) i=2.B(n2.j2)= 2![jj(nJ+1'[1jj(g_l)
et
o s Ao

6 5 4
Example: B6233 3><2><1( J+3x2( ]+2x3x2(3j 3( J:372

3 3
3 i=4,

i AL

|\ Jre—
N~
/ﬁ\
N—
_I_
=
VR
— —
—
7~ N\
&~ O
|
(8]
N—

Example:
7 7 6 6 5 4
B(7.2,3,4)=3x3x2x1|  |+3x2| |+3x3x2x1| [+3x3x2|  |+3x3x2| " |+3
4 4 4 4 4 4
=1473
(=) m=3

W i=2, B(na3’ia2)=2!ww+”£1j JL;J

5 5
Example: B(5,3,3,2)=3x 2(2J + 3(2j =90

) i=3, B(n3,j3)= 3!@(2]+3><2!@(2J+1!(1jj( 2(;_2]{2 _2j)

6 6 4 4
Example: B(6,3,3,3) =3x2x 1{3} +3x%x3x 2(3} +3( 2[2j + (3] ) =528

(3) i=4,

e A



Example:

6 6 4\ (4 3 3
B(6,3,3,4):6><3><2><1[ j+5><3><2[ j+2><3><2(2( j{ j)+3(( j+3[ j):1116
4 4 3) (4 2 3

(Z) m=4
) i=4,

AR e (AR T R

6 6 3 3
Example: B(6,4,3,4)= 6x3x2x1 A +7x3%2 A +3(3 ) +3 5 )=1206

(2) i=5,

B(n,4,j,5)=S!KjJLnJHoxijJLnJusx3!LjJ[nJﬂoxz![jJ[nJsz!LjJLnJ
5)\5 4\5 305 25 25
+2x2! “ (3 +3 + )+1 (2 +6 +4 + )
2) 703 4 5 1)7\2 3 4 5

Example:

7 7 7 4 4
B(7,4,3,5):25x3x2x1( J+10x3x2[ j+3x3x2[ ]+2><3><2(3( J+3( J)

5 5 5 3 4

3(2 3 6 3
+3( 5 + 3 )

= 5004
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= &3P

8 g+

~

1

Example m=2,

10

15
35

10
20
35

56

15
21

28

36

10

n\i

10

Example m=2, j=2

10

36

32
258

28
198
952

24
146
608

1970

20
102
360

1002

16
66
192
450
912

1666 | 2364

12
38
88
170
292
462

688

18
32
50
72
98

128

162

10
12
14
16
18
20

n\i

10
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Example m=2, j=3

n\i 0 1 2 3 4 5 6 7 8 9 10
0 1

1 1

2 1 6

3 1 21 12

4 1 12| 45 60 24

5 1 15| 78| 171 156 48

6 1 18| 120 | 372 558 384 96

7 1| 21| 171 690 | 1473 | 1656 912 192

8 1| 24| 231 | 1152 | 3225 | 5160 | 4608 | 2112 384

9 1| 27| 300 | 1785 | 6219 | 13083 | 16584 | 12240 | 4800 768
10 1| 30| 378 | 2616 | 10941 | 28746 | 47910 | 50016 | 31392 | 10752 | 1536
Example m=4, j=2

n\i 0 1 2 3 4 5 6 7 8 9] 10
0 1

1 1 2

2 1 4 4

3 1 6| 12 8

4 1 8| 24| 32 14

5 1 10| 40| 80 76 26

6 1 12| 60| 160 | 234 | 172 48

7 1 14| 84| 280 | 552| 630 376 88

8 1 16| 112 | 448 | 1110 | 1720 | 1600 800 | 162

9 1 18| 144 | 6722004 | 3922 | 4976 | 3888 | 1672 | 298

10 1] 20| 180 | 960 | 3346 | 7908 | 12720 | 13600 | 9138 | 3444 | 548
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Example m=4, j=3

n\i 0 1 2 3 4 5 6 7 8 9 10
0 1

1 1

2 1 9

3 1 27 27

4 1| 12| 54| 108 78

5 1| 15| 90| 270 399 228

6 1| 18] 135| 540 | 1206 | 1410 666

7 1| 21] 189 | 945 | 2823 | 5004 4833 1944

8 1| 24| 252 | 1512 | 5655 | 13440 | 19710 | 16200 5676

9) 1| 27| 3242268 | 10188 | 30363 | 59796 | 74682 | 53400 | 16572

10 1| 30| 4053240 | 16989 | 60876 | 150525 | 252720 | 274635 | 173724 | 48384

40




5

;\L:: ‘\ﬂ ="y v /2 /\ " 3 yx’
ﬁ’ & e }\‘ ’ ﬁxféﬁ ."fia/i@k.’% 5\: ’

N ‘ao 2(?( pa {." 7
Wit e 53 PR A= (RS

ZEBES pfpEpo N
* Sk B AIE 0 fEE

N fe® B A feanhd o b

5%

wé‘/ 3 E % , .
Ard E R REN o 2 A Bt 4 E B LS U E g ant Y
BEAINEG IRt E R

EHRE R N T
A PRI - e |



	010032-封面
	010032-作者簡介
	010032-本文
	摘要
	Abstract

	壹、問題與名詞定義

	貳、研究動機與文獻探討

	參、研究目的

	肆、研究過程及內容

	伍、研究結果與結論

	陸、參考文獻

	柒、附錄


	010032-評語

